Patio Door

TEGH

Assembly and Installations
Patio Door for

S—=7000 & S—=7500

USR]

DESIQNER - EXTRUDER

CONFIDENTIAL

The contents of this document and all revisions thereof are confidential and subject to the
world—wide copyrights of P.H.—Tech Inc. Any use, reproduction or disclosure thereof without
the written permission of P.H.—Tech Inc. is prohibited.

Specific details of all the intellectual property rights relating to this document and the systems
and components shown are available from P.H.—Tech Inc., P.0O. Box 220, Levis, Quebec
Canada G6V BN8.

Revision : 2008/07/20 7000GKD1/Guide porte—patio/



Patio Door NE@

(

PAGE:
1 u ﬁ Table of Contents

Required SCrews........ccooiviiiiiiiiiiiiiiiiiiiiiiiiiiiiiii 2
Frame AsSsembDIV.....ccccoiiiiiiiiiiiiiiiiiiiiiiiiiiiieiiiiiiiiii 3
Final Frame AssemDbDIy.........ccccooiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiin, 4
SIII ASSEIIDILY. ..o 5
Dust and Jamb Cover Installation................................ 6
Anchor Installation........cc.cooviiiiiiiiiiiiiiiiiiiiiiiiiiiieeinieanne. 7
Preparing the OpPEning......c...ccccoicieiiiiiiiiiiiiiiiininiiaeaiin.. 8
Frame Installalion...............cccoiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiin, 9
Handle and Mortise Lock Installation......................... 11
Tandem Wheel Installation.................c..ooooiiiiiiiiiiiiii... 12
Fixed Panel Installation.................cccccooiiieiiiiiiiiinnnann.n. 13
Operating Panel Installation............c..........cccciiiieniiin... 15
Screen Installation................coiviiiiiiiiioniniiiienenna.. 16
Head Weatherseal and Insect Stop Installation.......... 17
Keeper and Sash Stopper Installation......................... 18
Mullion Anchor Block Installation for Three (3)

Panel DOOTS.....cccoviu i 19
Mullion Assembly for Three (3) Panel Doors.............. 20
Final Mullion Assembly for Three (3) Panel Doors....21
Mullion Assembly for Four (4) Panel Doors................ 22

Mullion Screen Assembly for Four (4) Panel Doors...23
Sill Cut—0Out for Secondary Lock for Two (2)

Panel DOOIS....c.cocuve it 24
Sill Cut—OQut for Secondary Lock for Three (3) and
Four (4) Panel DOOIS...........ccoeueiueeeieiiiinaiaieieiaiaianenen, 25
Secondary Lock and Keeper Installation...................... 26
Important

This document describes procedures, step by step, for all patio door manufacturing.
All fabrication procedures that are different from those mentioned in this document
may alter performances and/or the quality of finished product.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

E$ Patio Door

TEGH

m Secondary Lock and Keeper Installation u T,

#10 x 5/8” flat
head screws )

#8 x 1”7 pan
head screws

Sill

o . = ®

Minimum Q Minimum
0.890” 0.948"

[
[23mm]  9863.8ARRU [24mm] 9s65.84rRRU

Welded Sash 9
with Inside
Glazing Bead

Welded Sash
with QOutside

Glazing Bead

46.

Steps for Proper Assembly

71— Make sure the operating panel is in a closed and locked position.

2— Fix keeper to sill track, using two (2) #8 x 1" pan head screws.

3— Locate secondary lock on operating panel’s horizontal rail, making sure the height is as
indicated on drawing. Important : The secondary locks position varies, depending on the
sash.

4— Fix secondary lock to operating panel’s horizontal rail, using four (4) #10 x 5/8” flat head
screws. Make sure that the latch aligns with the keeper hole.

Note:

Installation instructions are only given as a reference.

The use of the foot lock is not a recommendation from P.H. Tech Inc. as a safety
measure.




Patio Door Patio Door
T=eH yECH)

m 25 %J @: cut-out for Secondary Lock for Three (3) and Four (4) Panel cos@ m Required Screws u qam 2 u

Three (3) and Four (4) Panel Patio Door

D d aje

—= = - — o #4 x 3/8", pan head, screw
e /EW (For screen keeper in a three (3) panel door only).

#6 x 5/8" pan head, screw
(For screen keeper and screen stopper in a
four (4) panel door).

Jamb —_]

Sill—

Cut—out part

Jamb. which s
farthest from

the handle #10 x 5/87, flat head, screw

(For metal anchor and for secondary lock).

#8 x 7/8", pan head, screw
(For fixed panel).

#8 x 17, flat head shutter, screw
(For mullion and screen mullion
in a three (3) panel door).

38 3/32”

[967mm] #8 x 17, pan head, screw

(For three (3) panel door mullion and for
keeper for secondary lock).

1£713/16"
[122mm].

3 0.0647[1.5mm] #8 x 1 1/47, pan head, black screw
\%@mﬁ\ Ar (For head weatherseal and sash stopper).
10.0mm

<

) #8 x 1 1/4", pan head, screw

Top view (For keeper).
3.000”
[76.2mm] #8 x 1 3/4” pan head, screw
(For mullion in a four (4) panel door).
39 1/16”
\.mmmmdo.\ sin #8 x 1 3/47, flat head shutter, screw
Fio. B T (For sash stopper in a four (4) panel door).
0.585"
[14.3mm]|
L Oﬂm #8 x 27, pan head, screw
- @] (For screen mullion in a four (4) panel door).
1)
%Ma Profile view D .
) #8 x 27, truss head, screw
(For frame assemnbly).

Assembly Sequence

1— Notch the inside of the sill upper leg as per drawing. (See Fig.A.) .
#10 x 2 1/27 flat head, screw

2— Using a jig, drill two (2) 0.394” [10.0 mm] diameter holes of 0.563” [14.3 mm] deep. (For mortise lock).

(See Fig.B.)

#8 x 2 3/4", flat head, screw

NOTE — Drill on one side for a three panel door and on both sides for a four panel door.
(For anchor block and three (3) panel door

— Dimensions above for the cut—out position are measured from the jamb, which is .
farthest from the handle. mullion).

© 2008 P.H.—Tech Inc. © 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice. This document is confidential and subject to change without notice.




Patio Door

() (

Frame Assembly

Left jamb

I
1.

o 2

No. 9880
Gasket

Peel and stick corner gaskets No. 95879 to the
head on each jamb. Peel and stick No. 9880
corner gaskets to the sill on each jamb, starting
from the inside inorder to be able to fold them
back in front of the jombs. Peel and stick gasket
No. 9880—A on left jamb for an FX door, or on
right  jamb for an XF door.

Left jamb \

fffi’

3.

Fix the jambs at the head and sill with five
(5) #8 x 2" truss head screws in each corner

T E
L

Gasket

No. 9880—-A
M Gasket *

Right jamb J‘

F L

ol

#8 x 2" truss head screws

—(20)

starting from the outside to the inside.

© 2008 P.H.—Tech Inc.

This document is confidential and subject to change without notice.

No. 9879
Gasket

No. 9880—A
Gasket

No. 9880
Gasket

Front view of

AL
No. 9880

Gasket

Make sure corner gaskets make
a perfect joint with head and sill.

7 7
v A )

\ Right jamb

2/

E@ Patio Door

jECH]

@: cut-out for Secondary Lock for Two (2) Panel coo@ qam 24 u

Two (2) Panel Patio Door

D @

X 3 F X

1500 |27 27/32” [707mm] |22 13/16” [580mm]
1800 |21 27/32” [555mm] |28 13/16 [732mm]
39 21,/32” [1007mm]|40 5/8” [1032mm]

Jamb —_

Operating Sl —
panel Cut—out part—_
side

£213/16"
[122mm].

W 0.064°[1.5mm]
20.394”
[10.0mm] <

Top view

3.000”
[76.2mm]|

Sill

)

0.563"

14.3
[14.3mm]

% % Profile view
°

Assembly Sequence

T@Dﬁ

1— Notch the inside of the sill upper leg as per drawing. (See Fig.A.)

2— Using a jig, drill two (2) 0.394” [10.0 mm] diameter holes of 0.563” [14.3 mm] deep.
(See Fig.B.)

NOJTE — Drilling to be done on operating sash side only.
— Dimensions shown are taken from operating sash jamb.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



Patio Door

EC ]
m 23 %J @s&:os Screen Assembly four (4) Panel coowmw

Screen stopper
Screen keeper- W
(Included with the screen) —

#6 x 5/8” pan head screws f/lbl.’

#6 x 5/8” pan
head screws

| |

©

#8 x 2”7 pan head meEm/

Screen

S~

Screen mullion

43.

1— Using the screen mullion as a jig, drill four (4) holes with a drill No. 29 (0.136” [3.5mm])
2— Fix screen mullion using four (4) #8 x 2” pan head screws.

3— Fix screen keeper to screen mullion using two (2) #6 x 5/8” pan head screws.

4— Fix the screen stopper at the center of the head track using two (2) #6 x 5/8" pan head
screws.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

[IECH)

Patio Door

m Final Frame Assembly

) (4

support

4.

From the outside, slide
fixed panel support to the
left for an FX or to the
right for an XF door in order
to seal it on the corner gasket.

_

Anchor block

head screws

Fixed panel support

m ° Sill

Fix anchor blocks to the fixed panel
support and to the head with two (2)
#8 x 2 3/4” flat head screws in holes provided.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

Fixed panel

#8 x 2 3/4” flat

J

(Viewed from outside)




Patio Door Patio Door
inECH] inECH]

m 5 %J h Sill Assembly u ﬁzE:ob Assembly for Four (4) Panel uOowmu qam 22 u
— :

PVC compatible
approved sealant

Fixed

Sash stopper 48 x 1 3/4" pon
head screws

o ™
#8 x 1 3/4” flat i - Mullion
head shutter ! ‘ﬁ a/\
screws

S m Sash
crew cap / T~ \\

o 1~

y
48 x 1 1/4” j@ L

Mullion block

pan head screws N @// H
e #8 x 1 3 pan

PVC compatible head serinl

panel approved sealant %

support

11.

AN

= =) ()]
Il ® 9

[ -—t #8 x 1 Y|l pan
head scr

2
' of

AN

From the outside of the sill, insert
o 0 weep hole plug in prepared opening
(operating side).

b <

#8 x 1 3/4” pan

From the inside, insert a weep hole cover into
o the hole in fixed panel support (closest to jamb).
Making sure it sits on the sill track.

head screws - ,m

From the inside, caulk the top and sides of the weep hole cover \AB\

o and caulk all along the fixed panel support with a sealant that is AN AN 13/16"
approved and compatible with PVC. On the side of the fixed panel ®
support where there /s no weep hole cover, apply more caulking in order to seal the unused
drain hole and space between the fixed panel support and the weatherseal block. Also
caulk the grooves on each side of the weatherseal block as illustrated above. Apply a thin %N
amount of sealant at the corner where the fixed panel support and bulb seal of jamb
meet and finish on top of the fixed panel support with a ball of sealant.

Peel and stick the sill weatherseal block at 1,/32” [1 mm] from the end of the fixed

” 1— Insert mullion block into the side stile cavity as shown. Fasten mullion block with two (2)
, panel support or at 1/8” [3 mm] from the end of the black cap located at the end

¢ the fixed / y #8 x 1 3/4” pan head screws in holes provided.
© € fixeq panel support. 2— Install the mullion on the side stile using four (4) No. 9615.ZC.VISO8 screws. Make sure
. the longest leg is on the inside.
N Q Caulk both ends of weatherseal block as illustrated above. Note: It is important that the mullion be pre—machined.
° 3— Fix the keeper to the mullion with two (2) No. 8 x 1 1/4” pan head screws.
On the outside face of the sill, at the jamb, apply a sealant that is approved and compatible 4= If you use a mortise |ock, from the inside, stick a jomb cap in the opening for the
SWith PVC. keeper on mullion. (CAUTION: Too much cement could damage PVC profiles).
5— Install the sash stopper at the center of the head track using two (2) #8 x 1 3/4” flat head
On the operating sash side, in the space between the bulb seal and the sill, apply a thin shutter screws
o dmount of sealant. 6— Cover each screw with a screw cap.
© 2008 P.H.—Tech Inc. © 2008 P.H.—Tech Inc.

This document is confidential and subject to change without notice. This document is confidential and subject to change without notice.



™

Patio Door

ECH]
h 21 EJ @5& Mullion Assembly for Three (3) Panel coo%w

Screw Cap

119/32 :JJﬁ
3/8% J

=) - -y | Screen mullion

»

#8 x 17 flat head
shutter screws

44 x 3/8"

pan head screws

8960.ZC.GACHE
(Included with the screen)

#8 x 1.1/47
pan head
screws

head screws
Mullio

Jamb cap

#8 x 2 3/4”
flat head
screws

71— Using the screen mullion as a jig, drill four (4) holes with a No. 29 (80.136” [3.5mm]) drill.
(Respect _the |ocation indicated by the dimension).

2— Fasten screen mullion to fixed meeting stile using four (4) #8 x 17 flat head shutter screws
and fasten the xmmbm\ Nﬁo screen mullion with two (2) #4 x 3/8” pan head screws.

serews ::&:mmm with the keeper, since these are too long. Use screws #4 x 3/8” pan
head screws (3/8” long) which are included with your (3) sash door hardware bag.
3— Cover each screw with a screw cap.
4— Fasten mullion to fixed meeting stile using four (4) #8 x 1” pan head screws.
5— Drill two (2) holes with a No. 29 (80.136” [3.5mm]) drill and fasten the keeper with
#8 x 1 1/4” pan head screws.

6— Using the fixed meeting stile as a jig, drill four (4) holes with a No. 29 (20.136" [3.5mm]) drill

into the fixed panel. (Respect the location indicated by the dimension).

7— Fasten fixed meeting stile with four (4) #8 x 2 3/4” flat head screws.

8~ If you use a mortise lock, from the inside, stick a No. 8926 jamb cap in the opening for
the keeper on mullion. (CAUTION: Too much PVC cement could damage PVC profiles).

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

Patio Door

IECH]
m Dust and Jamb Cover Installation u qzm u

15.

Insert sill dust cover between the
fixed panel support and the sill.

Important: Make sure to install sill
dust cover correctly as per drawing.
There should be a gap

between the sill dust cover

and the dust plug.

Sill dust cover

Fixed panel
support

L]
=

<

:_/ Left jamb

Jamb cover
(Option)

14.

(Optional)

Install a jamb cover
on both jambs.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



Patio Door Nﬁ@

TEGH

h 7 %J h Anchor Installation u

M \QQSO cover

beod 14.

Cement the jamb covers on top
of each jamb using PVC cement.

\\gmgu
‘ #10 x 5/8” flat

head screw

-
\

/‘\ \

15. (Optional

Install metal anchors at 8" [200mm]
from corners.

Metal anchor
\ fFrame

74

16.

The maximum distance between anchors
should not exceed 27" [700mm] If this is
the case, add an additional anchor.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

NE% Patio Door

[ECH)

@schs Assembly for Three (3) Panel coowmu ﬁﬁ% 20 u

1/4” ©,

Minimum

NN% x 1 pan Mullion

ead scre E)

Installation holes

Fig. A

ixed panel

\ | fixed meeting
stile

ixed panel

Mullion anchor

block meeting

stile
#8 x 1
flat head
(shutter)

Fig. 7 Screw

cap

71— Remove #8 x 1 pan head screws from fixed meeting stile and remove the mullion.
(See Fig. A)

2— Machine both ends of mullion if required.

3— Stick shims under each of the four (4) installation holes on fixed meeting stile and
three (3) along the weatherstrip, as indicated. (See Fig. A)

4— Slide fixed meeting stile on mullion anchor blocks. (See Fig. B)

5— Install fixed meeting stile in order to keep a distance of 15/32"as shown.
(See Fig. C)

6— Fasten fixed meeting stile with two (2) #8 x 1 flat head shutter screws. Cover each
screw with screw cap. (See Fig. C)

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



Patio Door

Patio Door

jIECHH jECH]

m 19 EOJ @schs Anchor Block Installation for Three (3) Panel cooau m Preparing the Opening u qam 8

Read instructions carefully before starting installation and make sure the new door
will fit into the opening (allow 1,/2" or 3/4" gap all around).

D {

F XR F F XL F

Head X R
(Viewed from outside)

Sill
Jamb

! ‘ Opening

| #8 x 2 3/47 flat
head screws

©)

Mullion anchor

block
Operating panel AN Va

rail

each end) to ensure a levelled surface prior to installing the door.

Formula

106 1/4” [2700mm]| 33.750” [857mm] | (Frame width / 3) —1.661" [42.2mm]

39.

Assembly Sequence

1— On the head track, locate mullion anchor block from the bottomn of the left jamb
track as shown (FXLF), or right jamb track (FXRF). (Use Dimension A).

2— On the sill, locate and drill two (2) 0.140" [3.6mm] diameter pilot holes through the
operating panel rail.

3— Fix mullion anchor blocks to the head and sill, using two (2) #8 x 2 3/4” flat head
screws.

© 2008 P.H.—Tech Inc. © 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice. This document is confidential and subject to change without notice.

The performance of this door will be affected if the opening is too small or too large.
A levelled sill is critical. If necessary, use wooden shims (one at the center and one at



Patio Door Patio Door
ECL] TEGH

m 9 %J m Frame Installation w Qmmmwmw and Sash Stopper Hdmﬁm:mﬁodu ﬂgmgm u

\v
P > \ Jamb \ Jamb
. Screen keeper

N #6 x 5/8" pan

\\ head screws

NS
/NN

Keeper for
single point lock

#8 x 1 1/4” pan
head screws

N

Keeper for
two point lock
(if necessary) —"

Tl

186. 36.

Install a bead of premium caulking compound along the entire length of the sill. Locate keeper and fix with #8 x 1 1/4” Locate screen keeper and fix with

pan head black screws. two (2) #6 x 5/8” pan head screws.

against this
wall.

48 x 1 1/4
head screws

Dim "A”
With exterior straight handle 2 3/4" [70 mm]

With exterior "C” handle

(white or black)

With exterior brass, black nickel
Q\UQXQT‘BQ and brushed chrome handle.

panel

Fixed
panel

4 1/4” [108 mm])

3 7/8” [98 mm]

38.

Locate sash stopper depending on type of handle chosen. (See table above)
On the fixed panel side, place the sash stopper at the indicated place. Rest

Sit the door unit in the opening, sill first. Make sure caulking compound makes the sash stopper against the vertical wall in order to prevent an interference with
a perfect seal between the door sill and the floor. the fixed panel. Fasten the sash stopper with (2) #8 x 1 1/4” pan head black screws.
© 2008 P.H.—Tech Inc. © 2008 P.H.—Tech Inc.

This document is confidential and subject to change without notice. This document is confidential and subject to change without notice.



Patio Door

TEGH
m 17 %Q @mma Weatherseal and Insect Stop Fm_ﬁm:miosu

Weep hole
cover
(If necessary)

H/ Insect stop

34.

From the outside, insert the —_ Operating
insect stop above the meeting stile | panel

of the fixed panel. If necessary, insert /

one (1) weep hole cover into the hole

located on top of each panel.

Head
Head weatherseal

MN 7
/%% x 11/4" pan
head black screws

/ Fixed

panel
um- / Operating
Move operating panel to full open \uow::.7/ panel

slide the head weatherseal /anti—lift device /
into the head cavity at the junction of meeting stiles.

Fasten head weatherseal with two (2) screws #8 x 1 1,/4” pan head black screws.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

Patio Door

) 1)
®

JIECH]

m Frame Installation

i

20.

Shim the door as shown above. Once the door is centered in the opening, place a shim
at the top of the fixed panel jamb (A) and secure with a screw through the metal
anchor next to the shim. Measure the diagonals to ensure the door frame is square.

Complete shimming of fixed panel jamb, then operating panel jamb and finally the head
and sill.

Note: Do not over—shim as it will cause the unit to bend and jeopardize performance

of the door. #8 x 3'screws
N

\m\% x 3" screws

W&DQ

7 N\MM 7 Caulking

Shim
Screw cap

Caulking
Jamb

(Cross Section)

21.

Using a special step drill, drill the installation holes next to the shim. Screw with #8 x 3"
screw and cover with plastic screw cap. Measure the diagonals to ensure the door
frame is square. Complete shimming of fixed panel jamb, then operating panel jamb and
finally the head. In order to prevent any water infiltration, screwing through the sill is not
recommended. Caulk and finish the exterior of door to ensure water tightness between
rough opening and door frame. Finish interior of door.

© 2008 P.H.—Tech Inc.

This document is confidential and subject to change without notice.



Patio Door

ECH]
m 11 SJ mmmdﬁ:m and Mortise Lock Installation

—

Operating panel

Outside handle

Cylinder
(Option)
~

w Actuator bar

Plugs

Sash covering Cap \

No. 10 x 2 1/2”" Mortise Lock
flat head screws

Identification of

O

Identification of double point lock
o single point lock installation position 9
ﬂwﬂ installation position

Sash covering Cq
g U/ /@

22.

Insert plugs into front cavity of operating panel. On the mortise lock, find the identification
HAUT/TOP for single point lock and TOP for double point lock. (This indicates the
installation position of the lock). Always install lock with identification towards the top to
ensure a proper operation of the lock. Insert lock into front cavity of operating panel and
fasten with two (2) No. 10 x 2—1/2" flat head screws. From the inside, adjust the inside
handle making sure the actuator bar is well inserted into the slot of the lock. (If the
optional cylinder is used, remove the actuator bar from the lever). If the optional

cylinder is used, punch out the ring of the exterior handle. If necessary remove the
excess in the hole with a file and insert the cylinder, as illustrated, into the cavity of the
outside handle. Position outside handle in place and secure from the inside with two (2)
screws. Install sash covering caps on sash, above and below the lock, as illustrated.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

Patio Door

TEGH

) (1)

Screen Installation

Outsi

[
= ¥

Sill —= ﬁE F
@Na (Cross Section)

from outside, insert the top of the screen
in the head track making sure that the
insect stopper felt is facing inward.
Insert the bottom of the screen onto
the rail of the outside sill cladding.

|

=
="

Screen /

Wheel
adjusterment \|

Outsid

Wheel /]

adjustement

Screen

Qm (Cross Section)

/f necessary, adjust for squareness and ease Screw driver
the operation with adjustment screws. Adjust

bottom wheels for squareness and then top wheels for

ease of operation. (Turn left to increase tightness and right to decrease)

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



Patio Door E@

Operating Panel Installation

5 ( =

Operating

\\ panel

I W Inside
NJj

(Cross Section)

30.

From the inside, insert the top of the operating panel
into the head track making sure the weatherstrip

is facing outward. Set operating panel onto the
operating panel rail of the sill.

Operating
panel

Il

=
=

Operating
panel

W\

” Inside

Wheel

adjustement Operating

panel

(Cross Section)

u AN Screw driver
°

If necessary, adjust height and squareness of the operating panel with the adjustment
screws from the wheels. (Clockwise to raise ,/ Counter—clockwise to lower).

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.

Nﬂ@ Patio Door

TEGH

ﬁ Tandem Wheel Installation

) C=)

Operating
panel

\\ Shim

Tandem wheel

Adjustement

screw nk
7l

23. .

Insert the shim on top of Ny,

the tandem wheel housing.

Tandem wheel
assembly

Bottom rail

Insert and snap firmly one (1) tandem wheel
assembly in each cavity of the bottom
rail. Make sure the adjustment screw
is accessible from the corner of
the panel.

Head

mm (Cross Section)

Apply a line of caulking at the center of the head (weatherseal
location) on a length of 4” [100mm Jin each cavity as shown.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



- Patio Door

iy

(Cross Section) Fixed

S
26 T &
Insert fixed panel into the outside track
of the head, bypassing the anchor block \

and making sure the interlock
weatherstrip is facing inward.

Foam plug
Fixed panel
Side stile

(Cross Section)

N V@ outsi Q m.

Insert two (2) foam plugs at the base of the vertical

side stile and slide the fixed panel fully against the jamb. )

Check for squareness.
© 2008 P.H.-Tech Inc.
This document is confidential and subject to change without notice.

Fixed Panel Installation u

Patio Door

Anchor block

Inside

Interlock

Fixed panel
Side stile

Patio Door
/ Frame

[ [ [ L

E@ Patio Door -

ﬁ Fixed Panel Installation u q}@m#% u

| — Sliding cap

/TS

‘ 7 Sliding cap
’ Foam plug

\\ Fixed panel

Outside
) — Sliding cap
Fixed panel

Sliding cap

(Cross Section)

28.

Insert the other foam plug at the base of the interlock of the fixed panel.
Slide caps at each end of the interlock.

= Inside
7 /”/..l
A , '6@
o,
@E /mm\mé cap
(Cross Section) #8 x 7/8” pan head

screws

29.

Install four (4) #8 x 7/8” pan head screws into the holes provided at the top
and bottom of the horizontal panel rails. Cover each hole with the screw cap.

© 2008 P.H.—Tech Inc.
This document is confidential and subject to change without notice.



	7000GKDA1.dwg P0
	7000GKDA1.dwg P1
	7000GKDA1.dwg P2
	7000GKDA1.dwg P3
	7000GKDA1.dwg P4
	7000GKDA1.dwg P5
	7000GKDA1.dwg P6
	7000GKDA1.dwg P7
	7000GKDA1.dwg P8
	7000GKDA1.dwg P9
	7000GKDA1.dwg P10
	7000GKDA1.dwg P11
	7000GKDA1.dwg P12
	7000GKDA1.dwg P13

